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Travel Addition

Solve the following word problems.

If a bus travels 3,000 miles to New York and then
2,000 miles to Chicago, how many miles does it
travel in total?

Sarah's journey to Australia was 6,000 miles. She
then traveled to New Zealand which was another
1,500 miles. How many miles did she travel
altogether?

A train travels 4,500 miles to Paris and then 2,500
miles to Moscow. How many miles does it travel in
total?

A cyclist rode 2,500 miles for a competition. He
then rode another 5,500 miles for training. How
many miles did he ride in total?

A car drives 3,500 miles to Los Angeles and then
1,500 miles to San Francisco. How many miles does
it drive in total?

A travel agency organized two trips. The first trip
covered a distance of 4,000 miles and the second
trip covered a distance of 5,000 miles. What was

the total distance covered in both trips?

A bicycle rides 1,000 miles to Amsterdam and then
2,000 miles to Brussels. How many miles does it
ride in total?
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